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e-log

8/7 todays goal is time-in

DAC0=25 ,open time =35,

conclusion :

Time | Run Run(n{..ie:)gth n_collisions|modebit Evepnatc(kiexlt)tOS setting Comment porpose
25321 8 95 50k

18:06/25322 8 64 95 50k beam directry

18:31/25323 5 32 95 27k same pieak a-nzdtrsiagn:eri?n? 2 reginon<-

18:40(25326 5 127 95 43k

19:01/25330 5 16 95 27k

19:17(|25331 5 127 95 2m landum_trigger

19:32|25335 5 127 95 50k problem solutioned after restart vltage

19:47(25336 5 8 95 43k time in

20:08(25338 5 127 95 41k lpeak
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Time || Run Run(;.enn)gth n_collisions|modebit Ev‘:tc(kie:t)tos setting Comment porpose
25321 8 95 50k
18:06/25322 8 64 95 50k beam directry
18:31/25323 s 32 s 27k e e etmperry n_collision=32, modebit=95
18:40(25326 5 127 95 43k s
19:01/25330 5 16 95 27k
19:17/25331 5 127 95 2m / landum_trigger
19:32(25335 5 127 95 50k / problem solutioned after restart vltage
19:47/25336 5 8 95 43k / time in
20:08(25338 5 127 95 41k lpeak
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Time || Run Run L.ength n_collisions|modebit Event (intt0s setting Comment porpose
(min) - packet)
25321 8 95 50k
18:06/25322 8 64 95 50k beam directry
18:31(25323 5 32 95 27k same pieak and s.ame in 2 reginon<-
-2trigger??
18:40(25326 5 127 95 43k P
19:01(25330 5 16 95 27k /
19:17/25331 5 127 95 2m / landum_trigger
19:32(25335 5 127 95 50k / problem solutioned after restart vltage
19:47(25336 5 8 95 43k time in
20:08(25338 5 127 95 41k lpeak
run 25323 / 8 to 100 93 BCK
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